10 | E—
%) ==
s J=, =
%: S : :é: median = 3.768 ug
S =1
0
0.15 o E—
~ _ =, —
L 01 == median = 0.106 Hz
£ ==
0.05 =
sams2, 121f02006 at LAB1S2, MSG, Upper Left Seat Track :[161.95 40.39 157.64] .
198.0000 sa/sec (6.00 H s
Af= o.oossts,ecNgft = 65526 sams2, 12102006 Hanning, k = 1019
Temp. Res. = 27.960 sec, No = 60000 Start GMT 27-March-2012, 087/08:00:00.004 Span = 7.91 hours
1 - - : : — -6
0.9 -
-7
0.8 L
0.7 ‘ '; = —
- — -8
AL F | T i
06 ‘ﬁh’, -5
N " S
= =3 g
z £ o
5 0.5 2 L S -9
> =
g S
i =
0.4 _—
n
o
W -10
0.3 -
0.2 -
-11
0.1 L
0 - -12
08:00 09:00 10:00 11:00 12:00 13:00 13:59 15:00 16:00

G M T 2 7 - M arc h _20 1 2 ] 08 7/h h : m m from: /misclyoda/pub/pad, ekelly, 29-Mar-2012,11:58:51.524



